EWAYRI=D3T

JUNRE. BB ADSXR

PR ;

IRk 27F9R278 (8

B8)

ERI—2: i B IBEDRTEFIE © Ry K IE

HOCP IR B Te i 1 =g VRS 2" 4
=
it 44 A

(=i SNE& Bk | 560 GROSS|HDCP| NET k=]

BE 6R Mo 43|39 82 120|700

2 |BN 8K 46 | 36 82 (120|700

3 |m8 A— 42 | 38 80 [100|70.0

4 |& i 37 | 41 78 |60 |720

5 |98 Bs#l 40 | 44 84 (120|720

6 |tB &% 36 | 40 76 |30 | 730

7 |DAd FOBK 38|45 83 (100|730

8 |58 B3 43 | 41 84 (100|740

O | HEX 43|42 85 |100 | 750

10 |th)Il Z=th 40| 42 82 |70 |750
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25 |&f[@ &8 42 | 45 87 |90 |780
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38 |Xlt &=z 50 |44 94 |90 |850

39 B ®BR 49 | 45 94 |80 |86.0
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18 |98 = 50|48 98 170|810

19 |IRKN @ 51|44 95 (140 (810
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